* The manual suit for every color scheme of Freewing Douglas SBD-5 Dauntless.
The manual only choose one color scheme as an example.

* The manualis only for reference, all is according to the actual product. We can't note if
any improvement or upgrade.

* U P IE S A A A SBD-5 Dauntless T A 4 3% 42 3 48 5.
DR BAGE Kb — R E N AT KRS
o W BUES S, —UILSEY N UE . NPT ST AT R AR T, A B AT IE !

Version No.:F4101-V01 @ C E g
PP A 5 :F4101-V01 MADE IN CHINA



Welcome to purchase our Freewing Douglas SBD-5 dauntless dive bomber. In the U.S. Navy during
WW 11 ,Douglas SBD-5 dauntless dive bomber is one of main carrier-based bombers which active in
the Pacific theater. SBD-5 unique “perforated air brake flaps” increased the stability largely of fuselage
dive. As its name suggests,in Pacific theater, with no fear and the spirit of courage, in the Battle of Coral
Sea and Battle of Midway, driving SBD-5 pilots sank the Japenese proud Marine Main: Akagi,Kaga,black
dragon, dragon,four aircraft carrier, set an unprecedented record.

Based on the physical prototypes, we designed and produced this SBD-5 model plane. We use EPO material

and also add carbon material to strengthen its structure. Excellent structure design makes that its very easy
and simple to assemble. We only need ten minutes to complete its assemble.

This is very high scale SBD-5, we produced a lot of detail on the prototype aircraft, especially flap part.
Indeed, the effect of SBD unique perforated air brake flaps is obviously for the stability of fuselage dive.

The following is our basic specification.

Specification

Material

EPO

Wingspan

1330mm (53-3/8")

Fuselage Length

1040mm (41")

Flying Weight 17509 (61.72 0z.)
Motor Size 3648-600KV
Prop Size 3-Bladed 12*7

Recommended Battery

4S8 14.8V 2200mAh 25C

ESC

40AESC (1pcs)

Servos 6pcs 9g servo.
Retracts Scale Electric Retract
Landing gear cabin door control No

Aileron YES
Elevator YES

Rudder YES
Throttle YES

Flaps YES

At the same time, we provide three kinds of configuration options ( RTF. PNP. Airframe ), please according
to the configuration list, refer to the following pictures to check the products and their accessories.

Douglas SBD-5 Dauntless Version No.: F4101-V01
Item No.: F4101 - 45 : F4101-V01

7= it 4 5 F4101 M DEL*®
rreewing



Accessory Bag Content List

ARF Version Airframe Version
Parts bag 1 Parts bag 1
No. Name Specification Qty. No. Name Specification Qty.
1 Screw PA 3*35mm 4 1 Screw PA 3*10mm 4
2 Screw PA 3*42mm 3 2 Screw PA 3*35mm 4
3 Screw PA 3*50mm 1 3 Screw PA 3*42mm 3
4 Screw PM 2*16mm 1 4 Screw PA 3*50mm 1
5 Screw PT1.7*16mm 1 5 Screw PM 2*16mm 1
6 Lock Nut M2.0 2 6 Screw PT1.7*16mm 2
7 Screw PWA 2*8mm 4
Parts bag 2
— 8 Lock Nut M2.0 2
No. Name Specification Qty.
1 Metal Wire @0.5mm L=800mm| 1 Parts bag 2
No. Name Specification Qty.
Parts bag 3
1 Metal Wire @0.5mm L=800mm| 1
No. Name Specification Qty.
1 Y wire L=100mm 3 Parts bag 3
2 Chuck @1.2mm 2 No. Name Specification Qty.
3 Screw Driver Handle / 1 1 Y wire L=100mm 3
2
4 Screw Driver Head / 2 2 Chuck @1.2mm
5 Spare parts bag ggg:g gg:: E:g ; 2 3 Screw Driver Handle / 1
4 Screw Driver Head / 2
Parts bag 4
5 LED Controller / 1
No. Name Specification Qty.
- 6 Flap Servo Metal Wire | )0.8mm L=105mm 2
1 Landing Hook / 1 ¢Spare e heoT
7 Spare Parts Ba 2
2 “A” Type Bomb Pylons / 1 P o Spare parts bag 2
3 Fuselage Antenna / 1 Parts bag 4
. N ificati ty.
4 Main wing Antenna / 1 No ame Specification Qty
Main wing Fixing Part 1 Landing Hook / 1
) (Front) / 1
Main wing Fixing Part / 2 A" Type Bomb Pylons / 1
6 (Rear) 1
3 Fuselage Antenna / 1
4 Main wing Antenna / 1
Main wing Fixing Part
5 (Front) / 1
Main wing Fixing Part
6 (Rear) / 1
7 Nose Cowl / 1
8 Nose Decorated Cover / 1

FfeeWing



K300 D) 3K AT B TE S i HrSBD-57C £ 3 A #h R HEML o TE A% 1 HrSBD-57C £ 3 A b 3= K AL 36 (& i %2
TN, R ORI B M BCE MENLZ — . SBD- SZM%E"J CHEARETRERR , RK
FEBE ES0N TR i BOPL S ReE P . IEIIL A, FE KT, B B ESBD- 5E’J%4T;Jﬂa%%mf

R fb%fﬂizﬁrﬁﬁja‘ﬁqﬂ%%fﬁﬁﬂﬂ %FTEIZ!K%IU?W&IE’J@LIJJ Uik’ S 1 @756
REAR, 8] 25 /1 % 45 !

TR A SE R A, et JF 427 1 X 5 SBD-5 M . &
SR . ARG, AR B R m e R

ey
Elil: ]Ih
H 2
i

IR FHEPOR Bl 4, K 5 {d FH B 2F 44 KL oK

x
FATAL T A0 Bl A I 8], 2R 58 B KL

B
i

% — R HE AR m MISBD-5, EATHIME 7ORE A WAL B AN KRR e Ay . (9, SBD-5
BRI FLR T AR TR AT I AL B R A T AR

KT - s BRSO TR DR R

HEARZH

il 15 4 Kk EPO

K 1330mm (53-3/8")

PUAR K 1040mm (41")

AT E & 17509 (61.72 0z.)

L ML A% 3648-600KV

WE i 22 FH A% 3t 12*7

T AL T 2% H VU R0 A 4S 14.8V 2200mAh 25C

F, 1 1 3 2% 40 15 TG Il 1

fiE bl 9rAEHL 61

e 7% 42 H, 30 S80S v 42

7% S 1 4 JC Ik s g

ElEScE o 14 5 11

Th B 2 1 o 2% 1)

3 T 4 ] o 2% 1)

T 1742 A o 4 42

ek B 1) o 42

HHT,ﬁzﬂ]/’i%TEWﬁf@ﬂﬁ%jﬁéﬁﬁh, LA 7 AN [7] (1 12 ] o K. 36—l B A TG 3 3 i e

%E{]Lﬁ%;mmbniﬂﬁéﬁ AL RSB, E T B A T B LI R A X
Ve RO R AR, R AT AT EE I, T LA B IR B SO IR A ) R OB R 7 Rl 25 R R 10
Ee(:nuh?ola;?o?D -5 Dauntless 4 Ver5|on No Eﬂm ://gl
P2 5  F4101

M5 DEL*
l'¢¢l.l.lln



(REREN BTl B

P, P ) 25l
G | B 1 €9, 1
A=s Be A1 44 FR s 25 K A=) Be 1 44 R Kt 25 Hoat
1 [ 4% PA 3*35mm 4 1 [ 442 PA3*10mm 4
2 L §22 PA3*42mm 3 2 i2 4y PA 3*35mm 4
3 [i-¥%% PA 3*50mm 1 3 [i-%%7% PA3*42mm 3
4 i 22 PM 2*16mm 1 4 iz o PA 3*50mm 1
5 i 22 PT1.7*16mm 1 5 2 44 PM 2*16mm 1
6 42 R M2.0 2 6 2 44 PT1.7*16mm 2
. 7 U 22 PWA 2*8mm 4
B 4 L 2
: ?g e 14 44 ¢ A% 25 B i s M2 2
1 LA @0.5mm L=800mm| 1 B4 £, 2
1 41,3 F 5 JC A 44 R M 23 o
e | mELH misH | : M | @0.5mmL-80omm| 1
1 Y % L=100mm 3 10 3
) oo 51 2mm 5 ¥ e P 4 HLth 2% e
3 iR 22 J) / 1 1 Y £ L=100mm 3
4 W2 22 7] K / 2 2 gk @1.2mm 2
- i g:gg 9 3 42 22 T) R / 1
4 W2 22 7] 3k / 2
I 11 £, 4
we | mtak L o | LEDHEMER / !
) = a4 / ] E; efﬁﬁ:r:fg%w @o.m;:;osmm z
2 UNES P / 1 bl {62
3 Bl R & / 1 I 4
A R ; ] F 5 e 48 R K
5 iﬁlﬁ(ﬁ)ﬁaﬂ# ; ] 1 L / 1
6 ES rﬂ(% )za*w: / p 2 “A ST A S / 1
3 DR N5 / 1
4 EREL / 1
5 e (% ;ﬁﬂ B / ]
6 LR (?E‘ ;‘ﬁfz B ; 1
7 o / 1
8 17 5 S L 3 i / 1

FfeeWing



Install

Note:

1.When install, please read the manual carefully. if you have any questions, kindly contact with your distributor,
or contact us on freewing@sz-freewing.com

2.the manual was based on ARF version as a reference.

3.Before install, please refer to P12, check correctly the screw position.

R (WA
T ,ﬂzz nl”):l

1 EBR D, EF A R A, AR BE R, R RLIR R W K S, B I R AT A B RS
freewing@sz-freewing.com >k 33K % B .

2 . AR UL A A DIARFE A 2 5 i1 .

3. W Rt R, 1 2 P 12T, A F U 22 1 fff 1 5 47 & .

As the right photo shown, prepare spareparts
and install main wing.

e, WAER, EREEFM, PHERER

Use Y wire to connect the following wire.

-left and right main wing servo
-left and right flap servo
-left and right electric retract

= ARY LR 7 2 UL T I 4k
L A ERFEHL

FE L HREE AL

-JE N A H Bl T AR

Insert the carbon tube into the left and right
main wing and piece together main wing.

Bk EANR 2. FERS, PiatR.

Put down main landing gear by RC or other
equipment.

P BB EHE L&, N EEELR.

Douglas SBD-5 Dauntless Version No.: F4101-V01
45 F4101-V01

Item No.: F4101 _5_
7= it 4 5 F4101 M5 DEL*
rreewing



Take down the cockpit.

BT L5 A

Assemble the main wing to fuselage, and sort
out the connection lines.

Y TR ZIRAENLNE . [F) R B LF A G R

According to right photo, assemble main wing| _
fixing plastic part. E

WG A B Fron, 25 3 L BRF .

Fix the main wing by screws.

PR e 8] .

Loosen screw as the photo shown.

FA DT R 38 AU AL 4% 1l 4N 22 8] 72 R 42

Douglas SBD-5 Dauntless Version No.: F4101-V01
Item No.: F4101 —6- % 45 : F4101-V01

A
i 5 F4101 M5 DEL*
rreewing



Pull out the metal wire on tail wing, for
convenience to assemble tail wing.

HhEE R R R ML, DR %,

As the right photo shown, prepare spareparts
to assemble tail wing.

A B, #EFEEN, ZERRER.

Fix the elevator on the rear fuselage by
screws.

PR 22 45 7 R [ % fE AL 5 R AT

Insert the rudder.

MAEEHREHR.

Turn over the fuselage, fix rudder by screws.

WS, Mgzl eraRR.

Douglas SBD-5 Dauntless
Item No.: F4101 _7_
P i G 5 F4101

Version No.: F4101-V01
F4101-VO01

A
5y B
Ffeewing

L 1
WA 5



BN R, BAVIT 4G 2 2 J 58 K 4

Next, we begin to assemble bomber and tanks.

and nut.

FH 2T VAR B [#] 5 X 55 00 S5 LA

Fix the bomber ejection structure by screw

Assemble bomber.

TN

Assemble tanks.

2T -

jraann
ML
RIELLL

iy | 0L b

LI
gt

il

Glue on the indicated position as the right

photo shown, assemble main wing antenna
and hook.

ﬁ%%%ﬁ%%%%ﬁ;ﬁ%%ﬁ%%&m

Ky ?
"y |ansid

B
o

Douglas SBD-5 Dauntless
Item No.: F4101

i 5 F4101

Version No.: F4101-V01
5: F4101-V01
_8_

A
5y B
Ffeewing



Glue on the indicated position as the right
photo shown, assemble fuselage antenna.

gggﬁﬁﬁﬂéﬁﬁﬁﬁﬁﬁﬁim, 2N

At last, assemble antenna.

RJE, ZRRE.

Insert the rudder metal wire into servo arm,
and adjustits length, then fix by screw.

I\ 3 L L% ) 0 22 BIREHLRE T b, I 4
LA, PR 22 8] € .

Insert the left and right LED wire into LED
controller, please refer to the right photo.

e . A ERLEDI £k ifi A BILEDT 4% il 4 L
BNk, ESHA K

LED Controller Connection Diagram

LED/T 2 fill #% 3E 2 n &

LED(Flash) LED(Continue Light) A0 >
LED (I3 %) LED (3 5% 3 =
® __,r m
Flash Frequency
ARSI
Douglas SBD-5 Dauntless Version No.: F4101-V01

Item No.: F4101 -9- WA 5 : F4101-V01

'Y 5 : F4101 M5 DEL*

A
rreewing



Connect the channels to receiver, and switch
on transmitter and power on. After checking
every servo is in the center, through adjust the
length of control metal wire, center every servo |
surface.

%Kﬂ%@ﬁ@%ﬁ%%ﬂ,ﬂﬁﬁﬁm\%
WY EFIAIT A RENLE P RIS LT, i
WA RN 2 A, R T AT AE T .

Use Battery
We use Fullymax 4S 2200mAh 25C battery to test, fly 3 minutes if full rate, so, we advise to use 4S 2200mAh
25C battery to fly. when use different size battery, the CG maybe change, you can through move battery to reach the
correct CG.

HL ¥l ) £

FATHE MR AT B F (¥ & Fullymax 4S 2200mAh 25CHL L . 1] LAl 7] € 47350 4 o ﬁﬁu %‘Qﬂ]ﬁﬁ(@ﬁﬁﬂs
2200mAh 25CUA b 75 8 1 Bk WAT o e AN F R (b i, O R RE S 0. T DU IS R AT 1R R A2 3
LV, 3k F PP EG ) H

Control Surface Travels

Aileron travel relative to datum line: +8 mm 30% Expo
-10 mm 30% Expo

Taileron travel relative to datum line: +10 mm 30% Expo
-8 mm 30% Expo

Elevator travel relative to datum line: +8 mm 35% Expo

-10 mm 35% Expo

Douglas SBD-5 Dauntless Version No.: F4101-V01
Item No.: F4101 ~10- W& A5 F4101-V01

i 5 F4101 M5 DEL*
recwm



Operating instruction of Radio Control

1.Radio control include the transmitter and receiver.

2.Radio control function introduction.

LED power
indicator

Channel interface
a.2.3. 4

r. .

b= 1
£

Throttle Max . - .-". Elavator down

1 . ¥ "
Aileron Aileron Rudder Rudder Frequency switch

(left) (right) 3 (left) (right)

Throttle Min =g L [ Elevator up

Delta-wing Servo reverse
mix switch

3.2.4G Radio control frequency method.

Note: the radio control has been established on the frequency treatment in factory, could
use directly. In exceptional case, it need re-adjust frequency, please set as following:

-Press on the receiver frequency switch,
-While press on the receiver frequency switch, the receiver power on.
(Now, the receiver frequency signal light should be continue flashing.)
- Turn on the transmitter power switch
(Now,in transmitter panel, red light ,yellow light,green light will be continue flashing)
-Stop to press on the receiver frequency switch
-After the success of the frequency, the receiver frequency signal lightis on, not flashing.
The transmitter signal light is on, not flashing, it transformed to battery signal light

_11_

N, ®
Ffeewing



Douglas SBD-5 Dauntless Structure Diagram

25 ¥4 oy fik 1B

Carbon Tube
@8.0mm L:360mm

Screw
PA3*35mm

PA3*42mm

Main wing Fixing Part
(Front)

Screw PA3*35mm

“A” Type Bomb Pylons \ Bomb

Main wing Fixing Part
(Rear)

\

Oil Tank

Screw PA3*42mm

Propeller
3-Bladed 12*7 3648-600KV Motor

Spacer 6.0mm
Screw

= = -\ PA3*10mm
Screw Nut M6 - '7
Screw
Propeller Spinner PWA2.0*8mm Nose Decorated Cover

Douglas SBD-5 Dauntless Version No.: F4101-V01
Item No.: F4101 19— R A5 F4101-V01

77 i 4 5 F4101 Mo DEL*
Frecuung




Motor Parameters

HLHL 2 3

51mm

34mm /

’a%ﬁﬂ

]

(47 48.6mm M6.0

2.5mm ‘

57.4mm
Volate Current Pull Weight No Load

Model KV Value (V) (A) (9) RPM (9) Current Propeller ESC
3648-600 | 600RPM/V 14.8 30 1900 9120 180 1 5AL11 .4V 3-1lef;jed 40A

Preflight

After check everything before flight, as a beginner, we should pay attention of following issues, to make sure
our flight is successful.

1. When use radio set, make sure switch on the transmitter power firstly, then power on the receiver.

2. Before flight, under power on condition, push up and down the throttle and check the motor/ESC work well.

3. Before flight, check well the plane's center of gravity. Correct CG is the key factor of successful flight. Please
refer to P14 to check the center of gravity.

4. No matter take-off on the road or hand launch, we must upwind to take off.

5. After take off, if any unusual flight or hard to control, we should pull high the plane, then trim to adjust according
to the actual situation to maintain it level flight.

6. When the transmitter alarm, you must end your flight as soon as possible and operate to its landing, to avoid
the radio will be out of control since of low voltage.

7. 1f any damage in flight, please purchase the spareparts from your distributor or refer to www.sz-freewing.com
to check.

AT EEF I

R CATHT IR B2 )5, X T RAT &, BATRZAE AT A A& AT R T — L . R, 2k
%A EBHESZIJJ
T FEIEH A 38 P i & I, i JUGRAIE S 4T T A S LB U, AR5 R e oLl v
2. AERATH B RSN, MR E B R HESh ], K Ik S 7 R AR 1 TARIRES R A R

3. KAT R, L RN K ML 0 7 B IE A B O BRI T AT SR IR R R S %P]H%ﬁﬁa%%ﬂﬂ’]ﬁluuﬁ

4, RN MR B 2 TR, BT AR 0 K K.

5. KM K, R RITEEA W IERLEEIR, AT MR &8 m WAL, ARG R KSR,
KA RO TF o A RHL AT LR ER T R

6. HRBHUR M IRE F )5, RIS RS AT, E&%*ﬁ*”%ﬂ%ﬁﬂi Tt A I FE T AR PR P A R

7 TE RAT AR, ok AR R, O T &R R 2 R ) S T AL O S %?ﬂaﬂ]ﬂ’]ﬂlﬁ www. sz—freewing. com?x .

_13_

FfeeWing



L
ERES, X TROEEXR TR EZER. S5 Nl E0RREL REHAERSBD-5/ = O fr B & 5 IEH# .

Center of Gravity

The correct CG is very important for our first flight.check your SBD-5 CG as follow picture.

=)

CG=90-105mm

Douglas SBD-5 Dauntless Version No.: F4101-V01
Item No.: F4101 —14- fi 45 : F4101-V01

75 i 4 5 - F4101 M5 DEL*
rreewing



Have Fun!

We hope that you have many pleasant
flights with your Douglas SBD-5 Dauntless !

(SfeeWing

Shenzhen Freewing Model Co.,Ltd
HK Freewing Model International Limited

Add.:FeiYiBuilding,face to Labor Bureau, Fumin Middle Road, Dalang Town,
Dongguan City , Guangdong Province, China
Web: http://www.sz-freewing.com
Email:freewing@sz-freewing.com
Tel: 86-769-82669669 Fax:86-769-82033233



